Arithmetic Homework 7™ July 2025
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43 x10 =
543 + 3 =

6 2 _

9 9

541 + 10 =

0.65+3.34+5=

Write £6.43 as pence.

Order > to < 5.43,5.55, 8.32, 8.21
Show 7 hundredths as a decimal.
4x9-=

. 5421 + 3765 =

. 7434 - 3721 =

. Show 4 tenths as a decimal.
. What is 0.54 as a fraction?
. What is 0.7 as a fraction?
.b42 -+ 4 =
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6 2 _
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541 +10 =

0.65+3.34+5=

Write £6.43 as pence.

Order > t0 < 5.43, 555, 8.32, 8.21
Show 7 hundredths as a decimal.
4x9-=

. 5421+ 3765 =

. 7434 - 3721 =

. Show 4 tenths as a decimal.
. What is 0.54 as a fraction?
. What is 0.7 as a fraction?
.b42 + 4 =
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43 x10 =
543+ 3 =

6 2

9 9

541+10 =

0.65+3.34+5=

Write £6.43 as pence.

Order » t0 < 5.43, 555, 8.32, 8.21
Show 7 hundredths as a decimal.
4x9-=

. 5421 + 3765 =

. 7434 - 3721 =

. Show 4 tenths as a decimal.
. What is 0.54 as a fraction?
. What is 0.7 as a fraction?
.542 + 4 =
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541+ 10 =

0.65+334+5=

Write £6.43 as pence.

Order » t0 < 543,555, 8.32, 8.21
Show 7 hundredths as a decimal.
4x9-=

. 5421 + 3765 =

. 7434 -3721=

. Show 4 tenths as a decimal.
. What is 0.54 as a fraction?
. What is 0.7 as a fraction?
.542 + 4 =




